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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFO), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),
respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank|Number of Vacant Posts
800
940
600
820
450
560

MmO n | m | e

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank|Breakup (%)
ITO 11 %

AFO 35%

LO 10%

FE 26%

TO 8%

PO 10

frafaf@a aferer-1 it aferer-2 , 6 §&7 A -F & Y 4170 UK &7 3@ - are fagwor gwifdt & of &% § 6 fim 2w
F P! F ATavgedr Gl UA=d (%) IR T e v St & wam: o & afvrert (oms & off ), Ffy &
HTUBIY (T Uw ot ), fAaftr it (ua it ), foita rderdt (@e € ), ao-ite! sfier (@ 8t ) ofiv ueawm sftrert
(@ o) 1 7S 1 g ufdwra 9t 6 F1 & e wu= ¥ arfereT & B v siwsl ¥ snur uR uHl &1 9% S

11 -1 : d%aR Rad 1g

S |¥ad Ual &1 9w
A 1800

B (940

C |600

D (820

E (450

F [s60

AITHT -2 : UGl BT HSIaR Wa=Id e ST [dawo
S® O HaT [GaT (%)
ITO 11 %
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PO 10




Banks A and C recruited ITOs as per given requirement. After few days, some of the newly employed ITOs left Bank A and
joined Bank C. The number of new recruits of ITOs in Bank A and Bank C have now become equal. The percentage of new
recruits who left Bank A is

1.12.5%
2.22.5%
3.39%
4.78%

1)
(2)
(3)
(4)

A W N R

A R ¢ o - S T SHagdhd] & HTUR 3T ¢l 3l B HYidadl &1 $S (el & 915, TS Aa--gad 15 <1 3l 4 dd A DI
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1.12.5%
2.22.5%
3.39%
4.78%

1)
(2)
(3)
(4)

A W N R

1[Option ID=28101] Question Description : dwbv_pg_gp22_eng_2_q1
2[Option ID=28102]
3[Option ID=28103]
4[Option ID=28104]
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFO), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),
respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank|Number of Vacant Posts
800
940
600
820
450
560

MmO n | m | e

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank|Breakup (%)
ITO 11 %

AFO 35%

LO 10%

FE 26%

TO 8%

PO 10
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By what percent is the number of recruitments of LOs more/ less in C, E and F taken together than in A, B and D taken
together?

1. more by 37.11%
2. less by 33.22%
3. more by 33.22%
4. less by 37.11%

1) 1
() 2
3) 3
(4) 4

C, E, F @I U% Oy e Lo @ Fafaaal @1 9% A, 8, D &I U 91y fHaH &1 qa-1 | a1 wia<rd i@ / &9 3 7

1.37.11% 9 3ffi@
2.33.22% Y HH
3.33.22% U HfUH
4.37.11% 4 ®H

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28105] Question Description : dwbv_pg_gp22_eng_2_q2
2[Option ID=28106]

3[Option ID=28107]
4[Option ID=28108]
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFO), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),
respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank|Number of Vacant Posts
800
940
600
820
450
560

MmO n | m | e

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank|Breakup (%)
ITO 11 %

AFO 35%

LO 10%

FE 26%

TO 8%

PO 10
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F P! F ATavgedr Gl UA=d (%) IR T e v St & wam: o & afvrert (oms & off ), Ffy &
HTUBIY (T Uw ot ), fAaftr it (ua it ), foita rderdt (@e € ), ao-ite! sfier (@ 8t ) ofiv ueawm sftrert
(@ o) 1 7S 1 g ufdwra 9t 6 F1 & e wu= ¥ arfereT & B v siwsl ¥ snur uR uHl &1 9% S
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ITO 11 %
AFO 35%

LO 10%

FE 26%

TO 8%

PO 10




The ratio of recruitment of AFOs in C and E taken together with that of D and F taken together is

1. 46:35
2.233:174
3. 174233
4. 35:46

(1) 1
(2) 2
3) 3
(4) 4

C AR £ H U& 91y e AFo ®1 Hdl @1 391d D AR F & Ue 91 - &1 go- | fba g 2

1.46:35
2.233:174
3.174:233
4.35:46

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28109] Question Description : dwbv_pg_gp22_eng_2_q3
2[Option ID=28110]
3[Option ID=28111]
4[Option ID=28112]
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFO), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),
respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank|Number of Vacant Posts
800
940
600
820
450
560

MmO n | m | e

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank|Breakup (%)
ITO 11 %

AFO 35%

LO 10%

FE 26%

TO 8%

PO 10
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F P! F ATavgedr Gl UA=d (%) IR T e v St & wam: o & afvrert (oms & off ), Ffy &
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Banks D and F hired 15% more POs than their requirement. After one year, the total strength of the staff in both D and F
was brought down to the original strength through retrenchment of some employees. By what percent is the retreachment
less / more in Bank D than in Bank F?

1. 46.43% more in Bank D
2.46.43% less in Bank D
3. 43.46% less in Bank D
4. 43.46% more in Bank D

(1)1
(2) 2
3) 3
(4) 4

d@ D 3R FH (U Sa=Radar U 15% e Ut 3l @t Fgfdd o U au d1g, §d D 3R F H $% SHAIRGl @] Se-l & A1
U HHAIRAS (LTh) DI =T Ugd () & [a-1 &3 [Ga1| d@ F &I U 9 D H Sels bl oH/HU® Yided fbdl g ?

1. 9% D T 46.43% 3¥H
2.8® D H 46.43% T
3. 4% D H 43.46% ®H
4. % D ™ 43.46% 3fi®

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28113] Question Description : dwbv_pg_gp22_eng_2_q4
2[Option ID=28114]

3[Option ID=28115]
4[Option ID=28116]
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFO), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),
respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank|Number of Vacant Posts
800
940
600
820
450
560

MmO n | m | e

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank|Breakup (%)
ITO 11 %

AFO 35%

LO 10%

FE 26%

TO 8%

PO 10

frafaf@a aferer-1 it aferer-2 , 6 §&7 A -F & Y 4170 UK &7 3@ - are fagwor gwifdt & of &% § 6 fim 2w
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In Bank E, how many more TOs should be employed than the required number so that the ratio of number of TOs to that of
number of FEs becomes 2:37

1.42
2. 34
3.23
4,39

1) 1
() 2
3) 3
(4) 4

o £ 31 saa® GE 9 fiva- ifte 1o @i Fged fovan o aifet o/ @ 1o &1 U@ &1 FE & U8 & 91y SAUd 2 3
gl g 7

1.42
2.34
3.23
4. 39

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28117] Question Description : dwbv_pg_gp22_eng_2_q5
2[Option ID=28118]

3[Option ID=28119]
4[Option ID=28120]

Sl. No.6
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Which of the following statements best describes Brainstorming method of teaching?

1. Production of large number of ideas

2. Small step presentation with feedback provided
3. Content delivery in a lucid language

4. Theme based interaction among participants

1) 1
(2) 2
3) 3
(4) 4

FofaRad & ¥ &1 O &Y= e o ffer-Hy= foft & gam e v aftfa a=ar & ¢

1. [99RT @ 9gd |Er &1 IdeA

2. Ve Wiagy & Q1Y oY 9iuE HRdidebLor

3. galy Y91 H fauyg-a%g wsdfd

4. IR & & [qug (ofi|) snuiia sFarafean

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=28121] Question Description : dwbv_pg_gp22_eng_2_q6
2[Option ID=28122]




3[Option ID=28123]
4[Option ID=28124]

Sl. No.7
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Which of the following are the main characteristics of learner centered approach?

A. It is based on rigid curriculum.

B. It is centered on cooperative determination of subject matter.
C. It is mainly centered on teacher needs.

D. It lays emphasis on variability of exposure.

Choose the correct answer from the options given below:

1. A B and D only
2. A and Conly
3.B and D only
4.B and C only

1)
(2)
(3)
(4)

A W N R

FrofaRad 3 9 sfrmedt 3@ SUFd &1 UgE RNad s 91 8 2
A. T8 319 UIGH9d] W 31eRd Bidl 5|

8. U fawarTd Al & geeRl FuRT R SfEd earsl

C. 78 ga: FUa@ &t awadared | Bisd eidl &l

D. U8 J@IEH &1 fafgudt W s gar 2|
I feu e fasdheal H U U8l IR 94 -
1.®ad A, B3R D
2. %Had AR C

3. Haa B AR D
4. HAAB AR C

1)
(2)
(3)
(4)

A W N R

1[Option ID=28125] Question Description : dwbv_pg_gp22_eng_2_q7
2[Option ID=28126]
3[Option ID=28127]
4[Option ID=28128]

Sl. No.8
QBID:22201008

The channels of SWYAM PRABHA are uplinked from BISAG,

1. Aurangabad
2. Hyderabad
3. Gandhinagar
4. Banglore

1 1




2) 2
3) 3
(4) 4

U UHI O Bl & ol 315 T8 TSl § Fiferd (3rufdias) & 2

1. ARG
2. gEEIG
3. MR
4. §@R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28129] Question Description : dwbv_pg_gp22_eng_2_q8
2[Option ID=28130]

3[Option ID=28131]
4[Option ID=28132]

Sl. No.9
QBID:22201009

Given below are two statements:

Statement I: TPACK (Technological Pedagogical Content Knowledge) framework has been developed by Mishra and Kochler
in 2006.

Statement II: TPACK framework comprises of total six components.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
(3) 3
(4) 4

EIEEALAIEN A
FYT - |- A AT & (CFanTdd USRS T Bre-e Alds ) Bid B [H81 3R Braer J 39 2006 H [Goiad & an
DY - 11: AT TH & old H 5 S8 9D A Bid B
IWE DUl & el F Frafaiad feeedl § 9 98l s g -
1. @Y 1 R 1 GHT 98 B
2. BYF 1 R 1 &F1 e B

3.9Y 1 TR, g By 1 TTad B |
4. | 3T T, g o 1 T B

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=28133] Question Description : dwbv_pg_gp22_eng_2_q9
2[Option ID=28134]




3[Option ID=28135]
4[Option ID=28136]

Sl. No.10
QBID:22201010

Which of the following statements best describes "Summative Evaluation' in evaluation procedures?

1)
(2)
(3)
(4)

1. The teacher clarifies the doubts of the students in the class itself.

2. A teacher awards grades to the students after having transacted the course work.

3. During interaction with students in the classroom, the teacher provides feedback.

4. The learner's motivation is raised by the teacher through a question- answer session during feedback.

A W N R

FufiiRad o 9 ®F9 Y AbaIaD UGadl H UeaHidad Hba-" (FHed 3AqUH) & JdiaH auiH &dl ¢ ?

1)
(2)
(3)
(4)

1. e/ wan & 81 faenffal & 4esl &1 fFaru axar 8|

2. R1&® UraTshH &1 BId Q1 B4 & a8 Ugd UeH $dl

3. 16/ wan © faentifal & gy sfafhar © SR Uiay® (Bisa®) HaH Bl g
4. e Ufagi® & SR UY-STR U & T1H U SR HG BT IR 981 g

A W N R

1[Option ID=28137] Question Description : dwbv_pg_gp22_eng_2_q10
2[Option ID=28138]
3[Option ID=28139]
4[Option ID=28140]

Sl. No.11
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Different from being a normal distribution, if a curve is skewed on the right side, we call it

1)
(2)
(3)
(4)

1. Positively skewed.

2. Negatively skewed.

3. Non-uniformly skewed.
4. Platy kurtic.

A W N =

e g A sl R g aR-T e ar 1o el A gdsd @ed e 7

1)
(2)
(3)
(4)

1. Y9TTH® w0 9§ fawy
2. FBUTHES ¥U 4 fgug
3. 39HH &9 & fauy

4. Tufe® Teal (@eaiey)

A W N R




1[Option ID=28141] Question Description : dwbv_pg_gp22_eng_2_q1l1
2[Option ID=28142]
3[Option ID=28143]
4[Option ID=28144]

Sl. No.12
QBID:22201012

When the consistency of data collected is measured at different points of time, it is identified as.

1. Inter- rater reliability
2. Test- retest reliability
3. Split half reliability
4. Internal reliability

(1) 1
(2) 2
(3) 3
(4) 4

Wd 99g o (a4 fdg sl o daierd sfids! &I UeEudl Al Sl 8, df 34, Pedg?

1. -5 fayg-gdn

2. TI&T0T - O: Q0T fa e
3. fovea o fayaan

4. 3de fayg-aadr

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28145] Question Description : dwbv_pg_gp22_eng_2_q12
2[Option ID=28146]

3[Option ID=28147]
4[Option ID=28148]

Sl. No.13
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Change of behaviour in people after they come to know they are participating in a research project to produce results that
do not have validity is known as

1. Blind effect

2. Evaluation effect
3. Hawthorne effect
4. Demand effect

(1) 1
(2) 2
(3) 3
(4) 4

g S @ 916 o GRUTHT &I U &3 o oy [t sigdar URAeH1 # Sl a1 4T 38 8, 941 dly d4Udl el 5, & Uad
3% o1deR H uligd- deardl &

1. 3YT UHIT (FES 3ha<)
2. gedie- Uq1E

3. BI3YM UG

4. AT UHE

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=28149] Question Description : dwbv_pg_gp22_eng_2_q13
2[Option ID=28150]

3[Option ID=28151]
4[Option ID=28152]

Sl. No.14
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Some of the threats to internal validity in research are:

A, Quasi experimental design

B. Pre-Testing

C. Attrition

D. History

E. Maturation

Choose the correct answer from the options given below semi colon:

1. A B and C Only
2.B, Cand D only
3.B, D and E only
4.C, Dand E only

(1) 1
(2) 2
(3) 3
(4) 4

HTHYH H iR 3 & $8 @ & -
A. Se-UrfE fEemga
B. Ui gd

C. 3R

D. Qdad

E. URUST

i<l feu 1u fadeal & 9 981 3R g -
1.HaAA, B AR C
2.%ae B, C 3D

3. $dd B, D AR E
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28153] Question Description : dwbv_pg_gp22_eng_2_q14
2[Option ID=28154]

3[Option ID=28155]
4[Option ID=28156]

Sl. No.15
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Given below are two statements:

Statement |: In Focus group discussions, the moderator is supposed to provide a liberal climate for participants to open up.
Statement |I: Participants of focus group discussions should rant individual experiences for comparison.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
) 2
3) 3
4) 4

EICEAKIC A A
T - | : BIHY Wg 9at § TR U SHUaT 31 ok & i a8 UFieRl & Goax AR T & [ 38R adeRvl JeH S

@Y - || : BIeY WE HITGRI @1 go-1 & [ ddbfedd HIHd Bl feeR UleT digu|
U BYAl & e F FafaRad G § 9 98 Iwm g -

1. YT | AR 11 SHI T 2

2. %Y | AR 11 G TAd & |

3. %Y 190 g, g @y 1 7ad & |
4. % | A 8, TEg HH 1 T B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28157] Question Description : dwbv_pg_gp22_eng_2_ql5
2[Option ID=28158]

3[Option ID=28159]
4[Option ID=28160]

Sl. No.16
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In communication, denotation is the level of

1. Belief

2. Contrast

3. Description
4. Dissent

(1) 1
(2) 2
3) 3
4) 4




gam F e (fEaeem) e R e ¢

1. fayrg
2. 959
3. guiF

4. 3TeHd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28161] Question Description : dwbv_pg_gp22_eng_2_q16
2[Option ID=28162]

3[Option ID=28163]
4[Option ID=28164]

Sl. No.17
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Symbols provide meaning when used in a

1. Contrasting style

2. Random order

3. Non-specific context

4. Specific cultural context

1) 1
(2) 2
3) 3
(4) 4

i foaH Wgad 3 IR S NG @Xd & 2

1. SR Al

2. Qefwsd &

3. IR-fafdiy dew

4. fafy Aikpfa® deH

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=28165] Question Description : dwbv_pg_gp22_eng_2_ql17
2[Option ID=28166]

3[Option ID=28167]
4[Option ID=28168]

Sl. No.18
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A hot medium is characterised by

A. Non mechanical components

B. Low Audience participation

C. It envelopes only one sense

D. Large amounts of information supplies

E. High audience participation

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

1)
(2)
(3)
(4)

A W N R

e Hifgmm feo=a aRI Gl g e 7
A. TR-Tif® 9o
B. g 3R (AidI-gRiGT) YrTieRT
C. $ad U HJY[d ({-9) B Agd Bl 8l
D. YT 1 a3 A BT HYfd Tl &1
E. 3= STFITE® - HFIGRT
i< feu U fadeal # 4 981 3w g -
1.Ha A, B AR C
2.%ae B, C R D

3.HaAC, DIARE
4. BaAA DARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=28169] Question Description : dwbv_pg_gp22_eng_2_q18
2[Option ID=28170]
3[Option ID=28171]
4[Option ID=28172]
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Given below are two statements:

Statement I: In the initial stages, mass communication was considered as a study of propaganda.
Statement Il: Now it has its linguistic component in terms of signs, codes and language.

In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R

FHY - | : YRS IO H o9 TIR &1 AT-VER (WUS)) & U6 =0 & T4 J JF1 ST 41
HYA - 11 : 3 fogl, dfgaret iRy & gy 7 3ue! vl gew g
Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -

1. @Y FR 11 GF TR B

2. YA | SR 11 GF Tad 8|

3. %Y 19 g, [ ey 1 7Tad & |

4. @Y HEA T, fog By 1 9al 21

1)
(2)
(3)
(4)

A W N R

1[Option ID=28173] Question Description : dwbv_pg_gp22_eng_2_q19
2[Option ID=28174]
3[Option ID=28175]
4[Option ID=28176]

Sl. No.20
QBID:22201020

Given below are two statements:

Statement I: Mass communication supplies an inventory of public messages and allows for the monitoring of social values.
Statement II: In large scale social settings, mass media will enable integration of social institutions.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R




EIEEALAE N AR
T - | : TF-TIR IdaHE To= @1 G2 @1 M9 &3 & 3R s Ged! &l $g9avl & adl 8|
FYF - 1 : TS TAH & oIS Uias # 55-U9R Gifors S=uTsit & T iseol § Q&M g |
Sude Bl ¥ oreie § Prafaiad e § 3 98 ST
1. YT | 3R 1 ST G E
2. Y| AR I SHI TTad B

3.9 1 qel 8, g @Y 1 Tad B |
4. T TTAd E , g YA 1 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=28177] Question Description : dwbv_pg_gp22_eng_2_q20
2[Option ID=28178]
3[Option ID=28179]
4[Option ID=28180]

Sl. No.21
QBID:22201021

An amount of I 8500 becomes T 9500 in 3 years time at some simple rate of interest. How much the amount of 10,200
will become in 5 years at the same rate of simple interest?

1.3 11800
2.312000
3.3 12200
4.3 12500

1)
(2)
(3)
(4)

A W N R

YR &S B {5l 63 W 8500 $04 @ U Y131 2 961 H 9500 TUL &l 910! & 1 38T HIURUI &6T &I G2 U 10,200 TUG @I
Y1191 5 9ul | oo af =t 2

1. 11800 394
2. 12000 0T
3. 12200 394
4.12500 04

1)
(2)
(3)
(4)

A W N =

1[Option ID=28181] Question Description : dwbv_pg_gp22_eng_2_q21
2[Option ID=28182]
3[Option ID=28183]
4[Option ID=28184]

Sl. No.22
QBID:22201022




A man looks at the photograph of a person X and says "She is the daughter of the husband of only daughter of father of my
brother-in-law (Wife's brother)". How is the person X related to the man?

1. Daughter
2. Sister

3. Wife

4. Mother

1) 1
(2) 2
3) 3
(4) 4

U HeH! i X & o W SHdl § 3R Hedl § 1o "dg B Ul & Ul & UHAA Tl & Uld ®1 G4l g | ofdd X, 39 HeH d
Y UPR Halid g ?

1.l
2.4981
3.7l
4. 11l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28185] Question Description : dwbv_pg_gp22_eng_2_q22
2[Option ID=28186]

3[Option ID=28187]
4[Option ID=28188]

Sl. No.23
QBID:22201023

A person starts from point A and walks 30 meters in the North direction and then 20 meters towards West and reaches a
point B. Thereafter, he takes a southward turn and walks 10 meters to point C. After that, he turns eastward and covers 15

meters to reach point D. Finally, turning to his right he walks 20 meters, Find the distance from his starting point to the end
point.

1. 4 meters
2.5 meters
3. 8 meters
4. 10 meters

(1) 1
(2) 2
(3) 3
(4) 4




U oidd ®IH A H 901 YRA @dl § R 3R G20 H 30 Hiex 91d1 & SR U6 Uid| &1 3R 20 Hie ofldT ¢ Ud ®JF B 1R
Ugddl &1 39 dIG 98 G0 & AR J3dl & 3R ®IM € 9 Ugd- & fad 10 HieX 9adl & | 39 91g 98 I3E i % 5sdl 8
R | D W Ug9- & AT 15 Hie 9adl 8 3f=ia: 98 AU alig-l HR G2@R 20 Hie Iad] 8| 396 Yo & ¥H Y Iqd
e == & 99 g3 91d Piforg

1.4 HIR
2.5HIR
3.8
4.10 "R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28189] Question Description : dwbv_pg_gp22_eng_2_q23
2[Option ID=28190]
3[Option ID=28191]
4[Option ID=28192]

Sl. No.24
QBID:22201024

What number should replace question Mark(?) in the series given below.
55,47, 74,10, 135, -81, 2627

1.774
2.-250
3. 343
4.-343

(1)
(2)
(3)
(4)

A W N R

o & T S | WegE® 9 (7) © ®IF WS- 9= o 9|
55,47, 74,10, 135, -81, 262, 7

1.774
2.-250
3.343
4.-343

1)
(2)
(3)
(4)

A W N R

1[Option ID=28193] Question Description : dwbv_pg_gp22_eng_2_q24
2[Option ID=28194]
3[Option ID=28195]
4[Option ID=28196]

Sl. No.25
QBID:22201025




In a certain code language, the word TECHNOLOGY is written as 'ETHCONOLYG'. How will the word GENERATION be written
in that language?

1. EGENARITNO
2. EGNERATINO
3. EGENARTINO
4, EGENARITON

1) 1
() 2
3) 3
(4) 4

e FfEd @e YT & TECHNOLOGY 9sg @I 'ETHCONOLYG' oRaT Tl §1 3t W61 T 'GENERATION' TTs% @I [ TPR I
feran s

1. EGENARITNO
2. EGNERATING
3. EGENARTINO
4. EGENARITON

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28197] Question Description : dwbv_pg_gp22_eng_2_q25
2[Option ID=28198]

3[Option ID=28199]
4[Option ID=28200]

Sl. No.26
QBID:22201026

"Critics of Freudian theory should get themselves psychoanalyzed because opposition to the theory is itself caused by
unconscious resistance arising from the Dedipal complex. Which according to Freud distorts one's thinking.” Which logical
fallacy is committed in the above argument?

1. Appeal to authority
2. Slippery slope

3. Begging the Question
4. Hasty generalization

1)
(2)
(3)
(4)

A W N R

"THIOS & GId & SATAg®| Pl HUAT H/-[G=eIY0r HaM1 AT Fifd 1aS & SFER Sieud Bl (HIgh-H-rY) I
33 ald Sida- WioRlY gR1 39 gl &1 [aiy Ue ofdd & fidd @ fadd @eal 37 | 39 giad § & 91 difed ciy fdar /i g
?

1. WYDR 38
2. Th e ged gaH

3, YT G
4. =R GrE=iE

1) 1
(2) 2




3) 3
(4) 4

1[Option ID=28201] Question Description : dwbv_pg_gp22_eng_2_q26
2[Option ID=28202]
3[Option ID=28203]
4[Option ID=28204]

Sl. No.27
QBID:22201027

Which one of the following propositions is logically equivalent to the proposition-"Some attorneys are logicians™?

1. Some logicians are not attorneys.

2. Some attorneys are non- logicians.

3. Some logicians are attorneys.

4. Some non-logicians are not non-attorneys.

(1) 1
(2) 2
3) 3
(4) 4

Fafiad # 9 o ufagit 39 Uiiei| - 5 SHfiaad ahaRd & & Y & 7

1. TS a0l HUaad T8l gl

2. % Hfadal TR-ah Il

3. TS dbRdl Haadr g

4. B IR-qH R {R-Hgadl gl g |

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28205] Question Description : dwbv_pg_gp22_eng_2_q27
2[Option ID=28206]

3[Option ID=28207]
4[Option ID=28208]

Sl. No.28
QBID:22201028

If the proposition ‘No frogs are amphibians' is given as false then which of the following propositions can be immediately
inferred to be true?

1. Some non- amphibians are not non frogs.
2. Some frogs are amphibians.

3. All frogs are amphibians.

4. Some frogs are not amphibians.

1) 1
(2) 2
3) 3
(4) 4

a7, 39 viewia- “ois off Jo@ SUTR T8l & @1 39y & ©u H fear mn € df Fafied o 9 fog vaefa & S en @1
dAhIicid ¥ ¥ 3HM a1 of 9&dl & 7

1. PB IR-FUTIR IR-He@ Tl g
2. 9% Hed IHII ¢ |

3. il Hed SHTR Bl

4. FF Hod SHTR el gl




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28209] Question Description : dwbv_pg_gp22_eng_2_q28
2[Option ID=28210]

3[Option ID=28211]
4[Option ID=28212]

Sl. No.29
QBID:22201029

Which of the following propositions are so related that if one of them is true, the other has to be false and vice- versa?
A. All camels are herbivorous.

B. Some camels are herbivorous.

C. Some camels are not herbivorous.

D. No Camels are herbivorous.

Choose the correct answer from the options given below:

1. A and D only
2.Band D only
3.B and C only
4. A and B only

1)
(2)
(3)
(4)

A W N R

FrafaRed & © @R niwtrT 39 TeR 46l ¢ [$ afe 399 9 U@ 9 © df gudl ofbd oR fadma: gH1 difee 7
A. Tt S el )
B. PB e AMHYER B
C. DS Ghe ADHHET g1 g
D. ®13 +ff Fre TaHER TET B
Tefrm e A A T IW
1.®dd A R D
2.®dd B 3R D

3. HaaB AR C
4. HIAA AFR B

1)
(2)
(3)
(4)

A W N R

1[Option ID=28213] Question Description : dwbv_pg_gp22_eng_2_q29
2[Option ID=28214]
3[Option ID=28215]
4[Option ID=28216]

Sl. No.30
QBID:22201030




Which of the following arguments is an example of Svarupasiddha fallacy?

1. The sky- lotus is fragrant because it is a lotus, like the lotus of a lake.
2. Sound is eternal because it is produced.

3. Sound is a quality because it is visible.

4. Fire is cold becuase it is a substance.

1)
(2)
(3)
(4)

FafRed & 9 @l g Weuts dbaly ®f Uh 36§ ?

1. HIBE-HH i & Fifch I8 A & U HHA & 9HH TP HA o
2. G Ay & T4 78 399 @1 9l &

3. @G- 1T § i g emHA g |

4. 3% =d & HP U8 U@ 3o (WeH) B

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28217] Question Description : dwbv_pg_gp22_eng_2_q30
2[Option ID=28218]
3[Option ID=28219]
4[Option ID=28220]

Sl. No.31
QBID:22201031

Which of the following best describes Web 3.07

1. User generated online business

2. Based on the "intelligent” web where applications use natural language processing
3. Collaboration and social media

4. Refers to static text- based information websites.

(1)
(2)
(3)
(4)

Fgfafad § € @H 99 3.0 &1 9diqd guiH @xdl g ?

1. SUTRTES - SHd a3 Haad

2. At (Feiole) 98 W H1YRG, S8l Suar Auiiie HI9 S T $d ©
3. GO AR grere Hifsar

4, Bfq® U8 - 1Tk a1 deugey ®f Yafild axar gl

A W N R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28221] Question Description : dwbv_pg_gp22_eng_2_q31
2[Option ID=28222]

3[Option ID=28223]
4[Option ID=28224]

Sl. No.32
QBID:22201032




In the context of Information and Communication Technologies(ICT), which of the following statements is/are true?

A. In an email system, Bec: allows the sender of a message to conceal the recipient entered in the Bec: field from the other

recipients.

B. Phishing is a malicious program installed on a system that stays concealed avoiding detection.

C. Spamming is an attempt to acquire sensitive information for malicious reasons , by masquerading as a trustworthy entity.
Choose the correct answer from the options given below:

1.B and C only
2.Bonly
3. A only
4. A and C only

1) 1
(2) 2
(3) 3
4) 4

o1 Ud SR HEiiTeT (35.41.281) & deu H Fafaied § ¥ sHay/e =y $y= 9l g/8 ?

A. U@ 38 gonel 8§, S8 (Bec): o= & UuS & SLHLH. (Boc) T UAY U U Uradmal & T W @ Al Gl 8

8. el O R ST fORfRIT (decte a1 77 3 AT & i w1 i &) T g B & S S S v & g
T Tedl gl

C. W us faya-i wes (@fFd) & ¥ § gHiaqul SRUT 8 §d-6ue gRI Sde1=id el & ifoid &3 &I Ud UaTd 8|

< U e st & ¥ g8l IR g4 -
1. ®aaB AR C
2. Had B

3. AT A
4. HaAA R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28225] Question Description : dwbv_pg_gp22_eng_2_q32
2[Option ID=28226]

3[Option ID=28227]
4[Option ID=28228]

Sl. No.33
QBID:22201033




Given below are two statements:

Statement |: Mainframe computers have smaller internal memories than desktop computers.
Statement |II: Spreadsheets and word processors are examples of application software.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
) 2
3) 3
4) 4

A P RYTUE:
DY - | : SEheld HIER] BT ol H B SRR B TR HdR® Hid Fe3d BaR) gl 2
DY - || : BISTEY 3R 98 YR (e YoHd) UM AR & 36180 g
Iuded Bl B 3o | FEitiad @l § 9 58l SW g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3. %Y 1 qd g, fog du 1 7Tad g
4. @Y HEA §, fog duH 11 el 21

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28229] Question Description : dwbv_pg_gp22_eng_2_q33
2[Option ID=28230]

3[Option ID=28231]
4[Option ID=28232]

Sl. No.34
QBID:22201034

ICT is used to control and monitor everyday activities. Which of the following activities are most likely to use sensors?
A. Designing a master slide for presentation

B. Activating a burglar alarm

C. Opening automatic doors

D. Creating a spreadsheet

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. Aand D only

1 1




) 2
3) 3
(4) 4

3MME. 121, I Uidie 1 il & = 3R rgdien & T ugad food1 el 81 Frafeiad | 9 [ miatafdl gR1 9acs!
1 Ugad fot o &1 yaffie duEr g 2

A. U o oY U AIReR g s &I b
B. U S¥ieR (cH Bl Hishg Bl

C. %o gRI &l @ieHT

D.U% SlsTie &M

i< feu U fadeal # 9 981 3w g -

1. Had A AR B
2.%aae AR C
3. Had C AR D
4.%ad A 3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28233] Question Description : dwbv_pg_gp22_eng_2_q34
2[Option ID=28234]

3[Option ID=28235]
4[Option ID=28236]

Sl. No.35
QBID:22201035

Which of the following statements about computer networks are TRUE?

A. An intranet is a public network.

B. The Internet is a group of interconnected networks.

C. An extranet is an internal network that can be accessed externally by authorized users.
Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4.4 BandC

1) 1
(2) 2
3) 3
(4) 4




ARG T oH 3 oY gk JeaR S SR A WSl & 7
A. U - Udh Hddad Hedd gl
B. $ex-c Sfayafid "ead @ Uh 998 61
C. TREHE U@ AR "edd o, o a® WG d SUar@dis g1 8T ¥4 § Ugar of T&al &
i<l feu 1u fadeal & 9 981 3R g -
1. 590 A AR B
2.5 A MR C

3. HaaB AR C
4.A, B3R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28237] Question Description : dwbv_pg_gp22_eng_2_q35
2[Option ID=28238]

3[Option ID=28239]
4[Option ID=28240]

Sl. No.36
QBID:22201036

Given below are two statements:

Statement I: Rivers and lakes that have low biclogical productivity are said to be eutrophic.

Statement |I: Rivers and lakes that are rich in organisms and organic materials are called as oligotrophic.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4

EIEAG R E AR
B - |- ATl 3R =ict B! Frg Sfae saesd el 8, 3% Feiihd Sel ol 2|
HY - 11 § Tl R gic o gl vd Sfae uarif ¥ 9 gl &, 3% Seqund] (Siferieifthd) ®el 9 o
Iuded FUEl & e o Fafiied e 3 3 T S -
1. @Y1 AR 11 GH Fal &l
2. ®Y 1 3R 11 GH TTAd &
3. @Y | el &, faoeg YA 11 TTad g
4. %Y | TTAd &, T dYA 1 HE B

1) 1
(2) 2
3) 3
4) 4




1[Option ID=28241] Question Description : dwbv_pg_gp22_eng_2_q36
2[Option ID=28242]
3[Option ID=28243]
4[Option ID=28244]

Sl. No.37
QBID:22201037

What is flex fuel engine in motor vehicles?

1. Engines which run exclusively on biofuels.

2. Engines which are compatible with only 50% biofuel and 50% gascline.
3. Engines in which biofuels and gasoline can be put in any ratio.

4. Engines which run on both diesel and CNG.

1) 1
(2) 2
3) 3
4) 4

Ol aed g st Sod a1 & ?

1. 98 39 ofl Had vigey- ¥ Idal &

2. T8 $9F ofl Bhad 50% widgeH 3R 50% Uid & WY WA Bld &

3. 98 SoH [ogH SagyH 3R Ueid @ ol it Siurd # 31 off 9ddl §
4. 98 3o ol Siod 3R O T &l g1 | 9adl &

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28245] Question Description : dwbv_pg_gp22_eng_2_q37
2[Option ID=28246]

3[Option ID=28247]
4[Option ID=28248]

Sl. No.38
QBID:22201038

Which of the following are pathways for toxicants to enter into our body?
A. Inhalation

B. Absorption

C. Dermal

D. Ingestion

E. Extraction

Choose the correct answer from the options given below:

1.A Cand D only
2.Aand E only

3.B,Cand D only
4.C, D and E only

1) 1
(2) 2
(3) 3
(4) 4




TR TRR H 3Mfaura| & Haw ed 97 RElaed d o T §?
A, 4T
B. (G|
C. @9
D. Siadgul
. Fsmyn
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3R D
2. Bad A HRE

3. HadB, C AR D
4.%adC, D ARE

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28249] Question Description : dwbv_pg_gp22_eng_2_q38
2[Option ID=28250]
3[Option ID=28251]
4[Option ID=28252]

Sl. No.39
QBID:22201039

In order to limit the rise in global temperature to 1.5 °C over pre industrial levels, IPCC indicates that the world has to
reduce the emission of greenhouse gas to the extent of % by the year 2030.

1.65
2.50
3.45
4. 40

(1)
(2)
(3)
(4)

e auE E 3fE i gd- e TR d 1.5 °c W Uit S & e 218,08 . 9ad &ea & b @y ®f adf 2030 7@
T RRY T & So & % @I 41 d% 921 8|

A W N R

1.65
2.50
3.45
4.40

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28253] Question Description : dwbv_pg_gp22_eng_2_q39
2[Option ID=28254]
3[Option ID=28255]
4[Option ID=28256]

Sl. No.40
QBID:22201040




Although ozone is a pollutant in the ambient air, but in stratosphere it is valuable because it absorbs harmful

1. IR-Radiations
2. X-Rays

3. UV-Radiations
4. Gama- Rays

(1) 1
) 2
3) 3
(4) 4

Tt 3 uRkash 9 # vgus el & fhq THaIHsSa # 98 qoudH gidl & ife 98 Feffedeere
HARNNd Pdl g ;

1. 35 3R - fafem
2.9 - ol

3.9 41 - fafdor
4. 77T - fRot

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28257] Question Description : dwbv_pg_gp22_eng_2_q40
2[Option ID=28258]

3[Option ID=28259]
4[Option ID=28260]

Sl. No.41
QBID:22201041

Which of the following specific programmes are initiated by UGC for the promotion of values and ethical practices?
A. Jeevan kaushal

B. Deeksharambh

C. Vishwa Bharat

D. Guru Dakshata

E. Vishwa Darshan

Choose the correct answer from the options given below:

1.C, D and E only
2. A and E only

3.B,Cand D only
4. A Band D only

1) 1
(2) 2
3) 3
4) 4




ufdiad o 9 o U fafy $dedl o geidl gR1 4wl Ud -iid AagR] ®f Uidlied & & (od SR™Y a1 T
A. Sl IR
B. GI&MLH
c. fay uRa
D. % Gefdl
. fay aei
=< feu 7Tu fadedl 5 9 981 SR 9 -
1.®aa C, D AR E
2. Bad A HRE

3. HadB, C AR D
4.HaAA BIARD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=28261] Question Description : dwbv_pg_gp22_eng_2_q41
2[Option ID=28262]
3[Option ID=28263]
4[Option ID=28264]

Sl. No.42
QBID:22201042

Given below are two statements:

Statement |: Technical education is that which emphasises on the learning of techniques as technical procedures and
necessary skills and aims at preparing technicians usually above the secondary level.

Statement II: There is no distinction between vocational education, industrial education and technical education.
In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4




FHYF - |- dB-iID] & I8 & Sl ddb-1a! bl g avas SIeal & ©9 8 ufafal & ifi w94 ¢l 8 R fSgar
T4 GEa: Gdio® TR 9 3R & g dOR & 8l

T - || - TGS e, ifie Rian ud ae-ie! Rian & 7w @1 [9ue T8l gl 5l
Sudad @Al & ai® § FufaRad el § 3 wel S A -

1. BT 1 AR 1 SHT I '

2. YA | AR 11 GFT AT B

3. @Y | Tel &, forq @Y 11 TTAd 8
4. U T ¢, g B I T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28265] Question Description : dwbv_pg_gp22_eng_2_q42
2[Option ID=28266]

3[Option ID=28267]
4[Option ID=28268]

Sl. No.43
QBID:22201043

Which of the following are the state universities of India?
A. Sardar Patel University, Gujarat

B. Nagaland University, Nagaland

C. Acharya Nagarjuna University, Andhra Pradesh

D. Gauhati University, Assam

E. Sikkim University, Sikkim

Choose the correct answer from the options given below:

1.B, D and E only
2. A, B, Cand E only
3.A Cand D only
4.C, Dand E only

1) 1
(2) 2
3) 3
(4) 4




YRd & Iwd e Fefaeada s g
A. WRER U fayfaeem, Term
B. AFTeUS fayfaenm, Armavs

C. 3T TS fafdeed, iy ue™
D. TareTel fayfaemem, areH
. Tofaen faufgency, fafeeq
i< f&T 70 fadedi # 9 981 ST I -
1. ®aa B, AR D ARE
2. BaT A B, C HRE

3. Had A, C 3R D
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28269] Question Description : dwbv_pg_gp22_eng_2_q43
2[Option ID=28270]

3[Option ID=28271]
4[Option ID=28272]

Sl. No.44
QBID:22201044

Which of the following are included among the Institutes of Agricultural Research?
A. Indian Council of Agricultural Research.

B. Indian Institute of Food Technology.

C. Central Agricultural Marketing Department.

D. Indian Dairy Research Institute.

Choose the correct answer from the options given below:

1.A,B,Cand D
2. A, B and D only
3. A and B only
4. A and C only

1) 1
) 2
(3) 3
(4) 4




FrafaRad # € @ P SFHuH SRl 7 2 82
A. YA BN HTEYH UG
B. HIRG1d &g U] Ty
C. S5 Py faguH faHm
D. YIdg ST AT TR
i< feu e faweal 5 9 981 IR 9 -
1.A B, C3HRD
2.5ad A, B AR D

3. BAd A R B
4. HaAA R C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28273] Question Description : dwbv_pg_gp22_eng_2_q44
2[Option ID=28274]
3[Option ID=28275]
4[Option ID=28276]

Sl. No.45
QBID:22201045

Given below are two statements:

Statement I: In ancient India, education was free.

Statement II: In ancient India, education was centralised.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
2
3)
@
EIEIAEAIE AT S
DU - | - U YR | 218 F:z[ed o
TUA - 1| : U R | 167 dsigd 4
TUded BYHI & el H Fafiad [Gebedl § 9 T8 S 9 -
1.9 1 3R 1| GH 9E B
2. @Y | AR 11 G TEd & |

3. BY | HEl 8, g &Y 11 715 g
4. YA | Tad &, g By 1 T8I B

A W N R

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=28277] Question Description : dwbv_pg_gp22_eng_2_q45
2[Option ID=28278]
3[Option ID=28279]
4[Option ID=28280]

Sl. No.46
QBID:22201046

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Congo to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

FrafafEa Taiw s wryde ufey ik wafia st & s iR

Ui AR BIST @) GHadIe] [ded @ Uiar & 9rY-9rY qRIGY SHTaare] Ml & did 3abe Uidgiedl AR 49y off IRt
¥ Jufasr W ufoead & R 9% @ RuUfq 3ad &ed Y| gD, 374 9 @i 999 ®f g9 & G- B4l § gas o
ST 4T 3R g2 od 9id 41 g Sfeadl, TF W @ & Tas $@ ad Hiaeq 31 58 & /IFH R $8 & HUR W 50
Uidglgdl & a1al -31H-U1 <= SIF I &3 YT SOT- BT YHTYH da 4T IGTe0 & fod a4 1904 H Uldggl ardi, form- aFr
o2l &l g & HeH dd Ugdl 16a1 Ul, & el 3aid & sid ofF U fadH 3R Wig 3 U [ YHsiial [dan fomd grI §e &f
9 ¥ 9% Wl & @1 Waadl ol 715 R 39 Uas H ARad], Big &I 681 9F1 411 99 -] ®f 396 aR J dHeRT el df
I B Y HRaD] W 30 E1d B URAN S B Al Bl 35 18 3 Py I 307 gY, o8 WU 4= & e |
Ugd 71| ARGH! & He, BT GHIYH 3fdd: a¥ 1911 & g1 oF Wiy, WU Sl &1 Ue e 961 B 34 W Tehd, g 3R
ST 5 w1 & Yo 591 & 98, ARed! o T 3581 & ATOR 38 ol R I@dT 81 37 dve! & Ul g a1 3@ TayH f6Y
o H, BRI S a1 ARt & il o 5 o Sen o HfER e o1 oM I 87 % fow dearh g w8 ot

Which of the countries was allowed to take control of Egypt?

1. Britain

2. France
3. Germany
4. Spain

(1)1
(2) 2
3) 3
(4) 4

Fufaiad fog <21 &f g IR 901 R1fUd &34 &1 S0l 31 157

1.fgeq
2.
3. oAl
4. T

1) 1
) 2




(3) 3
(4) 4

1[Option ID=28281] Question Description : dwbv_pg_gp22_eng_2_q46
2[Option ID=28282]
3[Option ID=28283]
4[Option ID=28284]

Sl. No.47
QBID:22201047

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Conge to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

e Taiw o wrgde ufiy sk Fdfia ust & s SR

URRE OR piE & UEadre)] [de @1 Uit & Try-Try R Eeaars) At & 99 Sabe uldafadl 3R gud off I
Y| JuiaE R ufaegdf ard U ga @1 Rl 30w Bed ¥ i, 399 ¥ YT YUl o TR1U & e Sl § gas o
ST AT 3R g5 od 9id 41 R e, $% W @ & Tas 5@ ad HieH 31 58 @ ™H R $8 & HMUR TR 50
TiaefEdl & Grar -®H-T1 6% ®F 91 &7 TS0 ST & YA Bl 4T | IEe0 & [T a4 1904 F faggl aar, fora- el
<2 Pl g & HgH ad Ugdl 161 oT, @i Tl Gl & did ofH W e iR 6 3 U@ T gesiial a1 e gry f§ea &l
9 ¥ $5 i @3 @I Wdadl ol 715 3R 39 Uas H ARdaD], Bid &I 681 SF 411 od o] ®f 38d aR H SHeRT el df
IE BIE Y HARGD! IR AU C1d BT URAN B3 S H1 Bl | §HD 916 3P AP ¥oe 3w gy, foF8 U g & Jeld |
Ugd 41| HRaD! & He, &1 9919H 3fdd: a¥ 1911 & g1 99 Wig, WBiU &l @1 Us B 964! & &4 I Gg4d, g 3R
ST - T @1 giud [l i a8, ARG®! H 30T 3581 & S UR $3 4 oY 9odl £ 57 Sdcl & Ual 8 a1 310 GAH g
o H, B S 1 GRaw! & Tl Bl 3 P BT AYBR et U 5D o7 & & fw Gearsh g1 et i

Given below are two statements:

Statement |: Competing claims over African colonies were generally settled through war among the European powers.
Statement II: France was in conflict only with Britain over Morocco.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
4) 4




EIEEALAE N AR
DY - | : B ID] SR UR Hieg el Sal &1 FHIYH MR W R 2fddl & sia g gR1 faar a1
HY - 1| : HRED! Bl e Wi D1 hacl fec § TaY oIl
Swdd DUl & 1cilies H Fafaiad el § 4 w8l s g -
1. YT | 3R 1 ST G E
2. @ 1 R 11 EF1 TTad 8|

3. @Y | 9l &, firrqg @Y 11 TEd B
4. T TTAd E , g YA 1 T8 B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28285] Question Description : dwbv_pg_gp22_eng_2_q47
2[Option ID=28286]

3[Option ID=28287]
4[Option ID=28288]

Sl. No.48
QBID:22201048

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Congo to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

FrafafEa Taiw $ urgde ufey ik wafia ust & s iR

Ui 3R HIET &) GHegdIc) [de @ Uishar & 9ry-9r QR SHTsaare] Jieqdl & did 3abe Uidgiedl SR day off IRt
Y| JuHaE U wiaegdl ard : ga @1 R 30w Bed Y1 gieilio, 399 9 YD YUl ol TRIU & e Dail § gasi o
ST 4T 3R g5 ed 9id 41 qR Wfead], $9 W @ & Uas 5@ ad HiaeH 31 58 @ /H R $8 & HUR W H0H
Uiiefedl & Al -DH-T1 o B U7 &7 HTIE0 HAT- BT T Bt A | el & e o 1904 T ufagdl gral, foree St
3= &I g & HeH dd Ugdl 1631 Ul, B el @it & sid ofF U2 6 3R WY 3 Ush [ YHiial [dan fomsd grI §e &f
9 H @5l &3 @I Waadl ol 715 3R 39d Uas H AR, Wi &I 681 9F1 411 99 961 @ 386 aR H JHeRT el daf
I 1Y Y RED] W 20 Sd B URAN S B H1 S| 39 918 - AP §9e 307 Y, o8 WU 45 & FeH |
Ugd 41| ARaH! & He, BT GHIYF 3fdd: a¥ 1911 & g1 oF 1Y, WU Sl &1 Ue e 9t & 34 W Teqd, g3 3R
ST A T @1 giud [l i a8, ARG®! § 30T 3581 & 39R $3 f &Y Godl §| 57 Sdcl & Ual 6 a1 S0 GAH &g
o H, BRI S 1 ARas! & Al &f 5@ Se- o HIDR el 4T foFd 3o 87 & fog ieami ol W o




Which of the following countries was allowed to have colony in Morocco?

1. Britain

2. France
3. Germany
4. Spain

(1) 1
(2) 2
(3) 3
(4) 4

Fufdiad feg a2 & JRas! | 3ui-as §9H &1 o—Hfd 31 7152

1.5
2.9
3. AT
4.9

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28289] Question Description : dwbv_pg_gp22_eng_2_q48
2[Option ID=28290]

3[Option ID=28291]
4[Option ID=28292]

Sl. No.49
QBID:22201049




Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Congo to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

FrafafEa Taiw i urgds ufey ik wdfia usi & s difvm:

ufEr o anpieT @ gEaare) a9 @ Uit & 9ry-gry R geaarel 9idadt & §h Sabe ufagfadl 3R gud off I
Y| JuHaE U wiaegdl ard : ga @1 R 30w Bed Y1 gieilio, 399 9 YD YUl ol TRIU & e Dail § gasi o
ST 4T 3R g5 2d 9id 41 TR Wfeadl, $9 W @ & Tad 5@ ad Hiaeq 31 58 @ /H R $8 & HUR W 30
Wiaefadl & arar -®H-T1 6= ®F 91 & TS0 HT- & YA Sl 4T | IS0 & ot a4 1904 F ufagal ardi, fora- el
&2 &I g & HeH dd Ugdl 1631 Ul, B el Haidl & sid ofF U2 fadH 3R B9 3 U 1w YHiial [dan fo/me grRI [@e &f
9 ¥ @5 i &3 @I Waadl ol 715 3R 390 Uas H AR, Wi ®I 681 9F1 411 99 o] ®f 386 aR J JHeRT el df
I 1Y Y GRED] W 20 T4 B URAN S S H1 11 39 918 - AP I 307 gY, 59 WU g5 & e )
Ugd 41| HRa®! & He, ®1 GH1YH 3fdd: a¥ 1911 & g1 od 1Y, iU &l &1 Ue B8 9H-! & &4 T GeHd, g3 3R
ST T @1 giud [l [ a8, ARG®! § 30T 3581 & 3UR $3 ol T Godl &1 51 Idel & Ual 6 a1 30 GAH g
o H, BRI S 1 ARas! & Al &f 5@ Se- o HIDR el 4T foFd 3o 87 & fog ieami ol W o

Which among the following European powers were involved in tussle over Morocco?
A, Britain

B. France

C. Germany

D. Spain

Choose the most appropriate answer from the options given below:

1. A and B only

2. A, Band Conly
3.B,Cand D only
4. A, Cand D only

(1) 1
(2) 2
(3) 3
(4) 4




FufaRad fo DRI fdaal & i ARaD] &I b TSI gl ?
A foeq
B. Thid
C. ST
D. &H
i< feu e fasedl 4 9 981 IR 94 -
1.®dd A 3R B
2. BadA, B AR C

3. ®ad B, C AR D
4. HaAA, C3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28293] Question Description : dwbv_pg_gp22_eng_2_q49
2[Option ID=28294]

3[Option ID=28295]
4[Option ID=28296]

Sl. No.50
QBID:22201050

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long peried of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Congo to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

FrafafEa miw st argde ufey st Hafia sl & swe v

U SR BT & GHTadle! [do o Uidhar o Ary-9rY qRIYY iTsgare! il & did Jabe Ulagieal iR duy off SRt
¥ Iuial W ufaeadl ard U ge @ fufd 3ad &d U1 g, 34 I Y@= 99yl @f 3319 & G bl § as fomr
SIal 4T AR gG ed ofid ¥ U Aieqdl @ Ud - & Uad $@ od? UidaH 31 99 & ©H R $& & AR U A0
wiagfEdl & S1al -SH-91 G2 B 91 &7 AR ST B FHIYHE Bl 471 a0 & ¢ qy 1904 F Widgsl aral, e gl
X B gF $ M O T 501 U1, @1 Tl Gl & fid o W FeT 6 B T e T gusiar G e R f§e
9 ¥ ©2 i & @ Wdadl & T8 SR 39d Tas 1 ARad], Big I 641 9F 411 5d i1 @ 390 §R J aHeRT Har df
I 1Y Y ARGD! W 30 T1d B URAN B B A B 35D 15 - HRIPIY IPbe I0d gy, o8 Y g5 & JeH |
Ugd 71| ARED! & e, &I GHIYH idd: 34 1911 H g1 99 Wi, WidRN i1l & Ud G ST &I & 1R IgHd, g 3R
ST B &I giud faar fds a8, ARa®! H -l 3581 & $UR $S Yl $X Gadl g1 34 Ydbel & Ugl 8H a1 3] GHIYH ol
i H, Wi S 21 AR & Al Bl H@ Hi De- B HUDHR 21 YT oo I &7 & 0T digarl gl @ i




Given below are two statements:
Statement |: France allowed Germany to exercise full control over the French Congo.
Statement II: France went to war with Britain in 1904,

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
(3) 3
(4) 4

EIECAE AR
TUA - | : 61T A STHAT B HTE! S IR Ui FEE0 ®Id ® @ St ol
DU - 11 : 1 gy 1904 H fadH & 919 g
IWE DUl & e F Fafaied feeedl § 9 98l s g -
1. ®YF | 3R 11 EF 98T 8
2. BYA 1 3R 11 G Ted & |

3. @Y | Hel g, faeg YA 11 Tad g
4. @ T T, g I I TR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28297] Question Description : dwbv_pg_gp22_eng_2_q50
2[Option ID=28298]

3[Option ID=28299]
4[Option ID=28300]

Paper II : 30-English

Sl. No.1
QBID:30001

“What needs my Shakespeare for his honoured bones
The labour of an age in piled stones?

Or that his hallowed reliques should be hid

Under a star-ypointing pyramid?”

These lines are written by

1. Ben Jonson

2. John Milton

3. Robert Browning

4. William Waordsworth

1 1




